
POWER TOOLS

www.ronixtools.com

3165
Mini Angle Grinder 125mm



POWER TOOLS

www.ronixtools.com

Number Name

1 Outer Flange

2 Grinding wheel

3 Inner Flange

4 Wheel cover 

5 Screw,M6X18

6 Spindle

7 Key,3X10

8 Anti-dust cover

9 Screw M5x14

10 Spring washer5

11 Bearing box

12 Bearing 6202-RZ

13 Bearing clamp

14 spring washer4

15 screw M4x12

16 Big gear

17 Retainer 15

18 Bearing 608-2Z

19 Side handle

20 screw ST4.8x30

21 Gear box

22 circlip 8

23 lock spring

24 Lcok pin

25 ScrewM8

26 small gear

27 Bearing 6200-2RZ

28 Screw,M4X12

29 seal ring

30 Armature assembly

31 Dust ring

32 Bearing sleeve

33 Wind baffle

34 Screw ST4.2x65F

35 Stator Assembly

36 Motor housing

37 Screw, ST4.2X32

38 Right handle

39 Screw, ST4.2X16F

40 brush holder &coil spring

41 Screw ST4.2x12

42  Carbon brush

43 brush cap

44 Left handle

45 Variable speed controller

3165
Mini Angle Grinder 125mm

Number Name

46 Switch Assembly

47 capacitor 0.33uf

48 Cord clamp

49 Screw, ST4.2X16F

50 Cord guard

51 Plug

52 Spanner


